# Patient Mean differences Patient Cl (mean + SD*1.96) | Cl (mean-SD*1.96)
monitor vs. Healthdot
1 -0,29 2,78 -3,36
2 0,33 1,60 -0,94
3 0,09 1,09 -0,90
4 NaN NaN NaN
5 -0,01 1,25 -1,28
6 0,60 1,34 -0,14
7 NaN NaN NaN
8 0,58 1,98 -0,81
9 -1,27 0,08 -2,63
10 NaN NaN NaN
11 -0,16 1,40 -1,72
12 0,03 1,17 -1,11
13 2,23 5,57 -1,11
14 2,48 8,14 -3,19
15 -0,40 1,54 -2,33
16 7,03 12,55 1,51
17 NaN NaN NaN
18 1,52 3,18 -0,14
19 1,47 3,80 -0,86
20 0,90 2,22 -0,42
21 1,14 3,81 -1,54
22 1,12 2,27 -0,03
23 0,46 NaN NaN
24 NaN NaN NaN
25 0,09 1,17 -1,00
26 2,24 5,40 -0,93




